

PROCEEDINGS OF THE COCHIN DEVASWOM BOARD

Abstract

Cochin Devaswom Board - Maramath wing- Repairs to main comfort station and D.T.P.C comfort station at Chottanikkara Bhagavathy temple Quotations invited – Order issued

Read

- 1. Note from AE dt. 09-10-2024
- 2. Note from AEE dt. 15-10-2024
- 3. Note from EE dt. 15-10-2024
- 4. Decision of DC dt. 15-10-2024

Order on H1. 2013/2024 dt. 15-10-2024

As per the papers cited above an estimate of Rs. 4,98,000/- (Rupees Four lakh and ninety eight thousand only) is passed and sanction is accorded to execute the above work after inviting local quotations.

The sealed quotations should be received in this office on or before 23-10-2024 at 3 P.M. and will be opened at 3.30 P.M. on the same day in the presence of Executive Engineer, Cochin Devaswom Board/higher officials of Cochin Devaswom Board, Thrissur.

The sealed quotations should be addressed to the Executive Engineer, Cochin Devaswom Board, Thrissur and should contain the PAN number of the quotationer.

A copy of the estimate along with notification is herewith forwarded to Devaswom commissioner Devaswom Assistant Commissioner, Chottanikkara for exhibiting in their office Notice boards.

> (By Order) Sd/-D. Suni Assistant Executive Engineer

To

Notice Board.

The Assistant Commissioner - Chottanikkara,

The Devaswom Commissioner,

The Executive Engineer,

The Assistant Executive Engineer,

The Assistant Engineer, Stock File

roved for issue//

for Junior Superintendent Serios Clark

TS Register No: 1650/2024-2025

AS Register No:1701/2024-2025

Repairs to Main comfortstation and D.T.P.C comfort station At Chottanikkara Bhagavathy Temple

Abstract Estimate

(Dsor year: 2018, Cost Index Applied for this estimate is 35.59%)

	1 Repairs	
1	od144614/2024_2025 Extra Labors for Mate	
	Net Total Quantity	1.000 Day
	Say 1.000 Day @ Rs 971.70 / Day	Rs 971.70
2	od144615/2024_2025 Extra Labors Mason (brick layer) Ist class	
	Net Total Quantity	1.000 Day
	Say 1.000 Day @ Rs 1162.26 / Day	Rs 1162.26
	cutting the patch in proper shape, raking out joints and preparing and complete, including disposal of rubbish to the dumping ground within 1:4 (1 cement : fine sand)	50 meters lead:With cement mort
	Other Engineering Organisation Say 75.000 sqm @ Rs 491.78 / sqm	75.000 sqm Rs 36883.50
	Providing and fixing white vitreous china pedestal type water closet (and lid, 10 litre low level white P.V.C. flushing cistern, including fludevice (handle lever), conforming to IS: 7231, with all fittings and fixtumaking good the walls and floors wherever required:W.C. pan with and lid	ush pipe, with manually controlled ures complete, including cutting ar
	Net Total Quantity	1.000 each
	Say 1.000 each @ Rs 6050.91 / each	Rs 6050.91
5	14.82 Dismantling W.C. Pan of all sizes including disposal of dismantled madirections of Engineer-in-Charge	
	Net Total Quantity	4.000 no
	Say 4.000 no @ Rs 113.01 / no	Rs 452.04
6	4.1.5 Providing and laying in position cement concrete of specified grade shuttering - All work up to plinth level:1:3:6 (1 cement : 3 coarse sand nominal size)	

,	Net Total Quantity	2.000 no	
12	50.18.9.20.4 Providing and fixing PVC moulded fittings/ accessories for Rigid PVC solvent cement - 63 mm dia Bend	pipes, in	cluding jointing with P\
40	Say 4.000 no @ Rs 72.95 / no		Rs 291.80
	Net Total Quantity	4.000 no)
	Providing and fixing PVC moulded fittings/ accessories for Rigid PVC solvent cement - 63 mm dia Elbow	pipes, in	cluding jointing with P
11	50.18.9.20.1	1	
E	Say 20.000 metre @ Rs 526.17 / metre	4	Rs 10523.40
	refilling & testing of Joints complete as per direction of engineer in ch	110	
10	50.18.9.9.1 Providing and fixing PVC pipes includings jointing of pipes with one si		
	Say 30.000 metre @ Rs 346.95 / metre	lat.	Rs 10408.50
	Net Total Quantity	30.000 1	metre
9	50.18.9.7.1 Providing and fixing PVC pipes includings of pipes with one step PVC & testing of joints complete as per direction of Engineer in Charge. 63	solvent o	ement, trenching refill 6Kgf/cm2
	Say 30.000 metre @ Rs 266.13 / metre		Rs 7983.90
	Net Total Quantity	30.000	metre
8	50.18.7.3.2 Providing and fixing PVC pipes, fittings including fixing the pipe wi includes jointing of pipes & fittings with one step PVC solvent cemer per direction of Engineer-in-Charge 25 mm dia 10Kgf/ cm2- Internal	nt and test	ing of joints complete
	Say 25.000 sqm @ Rs 299.25 / sqm		Rs 7481.25
	Net Total Quantity	25.000	sqm
	12 mm cement plaster of mix:1:6 (1 cement : 6 fine sand).		
7	13.1.2		Rs 10690.32
	Net Total Quantity Say 1.451 cum @ Rs 7367.55 / cum	1.451 cu	

21	10.1 Structural steel work in single section, fixed with or without connecting	ng plate, including cutting hoistin
	fixing in position and applying a priming coat of approved steel prime	er all complete.
	Net Total Quantity	356.565 kilogram
	Say 356.565 kilogram @ Rs 101.29 / kilogram	Rs 36116.47
22	od144616/2024_2025 Providing PVC floor trap 110 x 63 mm .	
	Net Total Quantity	1.000 each
	Say 1.000 each @ Rs 116.15 / each	Rs 116.15
23	od144617/2024_2025 Supplying PVC Ball valve 25 mm nominal dia	
	Net Total Quantity	1.000 each
	Say 1.000 each @ Rs 116.15 / each	Rs 116.15
24	Providing and laying Ceramic glazed floor tiles of size 300x300 mm manufacturer), of 1st quality conforming to 1S: 15622, of approved m White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick bed of Coarse sand), including pointing the joints with white cement and it	nake, in all colours, shades, exce cement mortar 1:4 (1 cement :
		matering pignents etc comble
	Net Total Quantity Say 8.000 sqm @ Rs 1173,19 / sqm	8.000 sqm Rs 9385.52
25	Say 8,000 sqm @ Rs 1173,19 / sqm 11.37A Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, shad black of any size as approvedby Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing to the composition of the coarse sand).	Rs 9385.52 ing to IS :15622 (thickness to des except burgundy, bottle greets of steps and dados over 12 m with grey cementslurry @ 3.3kg p
25	Say 8.000 sqm @ Rs 1173,19 / sqm 11.37A Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, shad black of any size as approved by Engineer-in-Charge in skirting, rise	Rs 9385.52 ing to IS :15622 (thickness to des except burgundy, bottle greets of steps and dados over 12 m with grey cementslurry @ 3.3kg p
25	Say 8.000 sqm @ Rs 1173,19 / sqm 11.37A Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, sharblack of any size as approvedby Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing sqm including pointing in white cement mixed with pigmentof matching	Rs 9385.52 Ing to IS :15622 (thickness to des except burgundy, bottle greets of steps and dados over 12 mounts of greet greet greets and dados over 12 mounts of steps and dados over 12 mounts over 12 mounts over 12 mounts over 13 mounts over 14 mounts over 15 mou
25	Say 8,000 sqm @ Rs 1173,19 / sqm 11.37A Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, share black of any size as approvedby Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing sqm including pointing in white cement mixed with pigmentof matching. Net Total Quantity	Rs 9385.52 Ing to IS :15622 (thickness to lides except burgundy, bottle greet is of steps and dados over 12 minus with grey cementslurry @ 3.3kg payshade complete. 30.000 sqm Rs 32765.40
	Say 8,000 sqm @ Rs 1173,19 / sqm 11.37A Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, shad black of any size as approvedby Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing sqm including pointing in white cement mixed with pigmentof matching Net Total Quantity Say 30,000 sqm @ Rs 1092.18 / sqm 13.40 Distempering with dry distemper of approved brand and manufactures.	Rs 9385.52 Ing to IS :15622 (thickness to des except burgundy, bottle greets of steps and dados over 12 mounts of greets and dados over 12 mounts over 13 mounts over 14 mounts over 15 m
	Say 8,000 sqm @ Rs 1173,19 / sqm 11.37A Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, share black of any size as approvedby Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing sqm including pointing in white cement mixed with pigmentof matching. Net Total Quantity Say 30.000 sqm @ Rs 1092.18 / sqm 13.40 Distempering with dry distemper of approved brand and manufacture shade on new work, over and including water thinnable priming coarse.	Rs 9385.52 ing to IS :15622 (thickness to lides except burgundy, bottle greets of steps and dados over 12 mounts grey cements lurry @ 3.3kg pags hade complete. 30.000 sqm Rs 32765.40 re (two or more coats) of require at to give an even shade:
	Say 8,000 sqm @ Rs 1173,19 / sqm 11.37A Providing and fixing 1st quality ceramic glazed floor tiles conform specified by the manufacturer) of approved make in allcolours, shad black of any size as approvedby Engineer-in-Charge in skirting, rise thickbed of cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing sqm including pointing in white cement mixed with pigmentof matching. Net Total Quantity Say 30,000 sqm @ Rs 1092.18 / sqm 13.40 Distempering with dry distemper of approved brand and manufacture shade on new work, over and including water thinnable priming coal.	Rs 9385.52 Ing to IS:15622 (thickness to It des except burgundy, bottle greet rs of steps and dados over 12 m with grey cementslurry @ 3.3kg pt shade complete. 30.000 sqm Rs 32765.40 re (two or more coats) of require at to give an even shade: 68.000 sqm Rs 9422.76 European type W.C. pan) with seincluding cutting and making good

	50.18.9.20.7		
	Providing and fixing PVC moulded fittings/ accessories for Rigid PVC	pipes, inc	luding jointing with P\
1	solvent cement - 63 mm dia vent cowl	1.000 no	
	Net Total Quantity	1.000 110	
	Say 1.000 no @ Rs 76.40 / no		Rs 76.40
15	50.18.9.22.1 Providing and fixing PVC moulded fittings/ accessories for Rigid PVC solvent cement - 110 mm dia Elbow	pipes, inc	luding jointing with P
	Net Total Quantity	1.000 no	
	Say 1.000 no @ Rs 107.63 / no		Rs 107.63
16	50.18.9.22.2		
	Providing and fixing PVC moulded fittings / accessories for Rigid PVC solvent cement - 110 mm dia 45 degree Elbow	C pipes, inc	luding jointing with P
	Net Total Quantity	2.000 no	
	Say 2.000 no @ Rs 105.33 / no		Rs 210.66
17	50.18.9.22.4 Providing and fixing PVC moulded fittings/ accessories for Rigid PVC solvent cement- 110 mm dia Bend	pipes, inc	luding jointing with P
	Net Total Quantity	2.000 no	
		2.000 no	Rs 322.16
18	Say 2,000 no @ Rs 161.08 / no 13.52.1 Finishing with Epoxy paint (two or more coats) at all location manufacturer's specifications including appropriate priming coat, prepasteel work	ns prepare	Rs 322.16
18	Say 2,000 no @ Rs 161.08 / no 13.52.1 Finishing with Epoxy paint (two or more coats) at all location manufacturer's specifications including appropriate priming coat, prepare	ns prepare	Rs 322.16 ed and applied as purface, etc. complete.
18	Say 2,000 no @ Rs 161.08 / no 13.52.1 Finishing with Epoxy paint (two or more coats) at all location manufacturer's specifications including appropriate priming coat, prepasteel work	ns prepare	Rs 322.16 ed and applied as purface, etc. complete.
18	Say 2,000 no @ Rs 161.08 / no 13.52.1 Finishing with Epoxy paint (two or more coats) at all location manufacturer's specifications including appropriate priming coat, prepasteel work Net Total Quantity	ns prepare aration of s	Rs 322.16 ed and applied as purface, etc. complete. qm Rs 2592.97
	Say 2,000 no @ Rs 161.08 / no 13.52.1 Finishing with Epoxy paint (two or more coats) at all location manufacturer's specifications including appropriate priming coat, prepareted work Net Total Quantity Say 11.611 sqm @ Rs 223.32 / sqm 13.98.1 Wall painting with plastic emulsion paint of approved brand and manufacturer's specifications including appropriate priming coat, prepareted work	ns prepare aration of s	Rs 322.16 ed and applied as purface, etc. complete. qm Rs 2592.97 give an even shade:0
	Say 2,000 no @ Rs 161.08 / no 13.52.1 Finishing with Epoxy paint (two or more coats) at all location manufacturer's specifications including appropriate priming coat, prepareted work Net Total Quantity Say 11.611 sqm @ Rs 223.32 / sqm 13.98.1 Wall painting with plastic emulsion paint of approved brand and manuor more coats on old work	ns prepare aration of s 11.611 s	Rs 322.16 ed and applied as purface, etc. complete. qm Rs 2592.97 give an even shade:C
	Say 2,000 no @ Rs 161.08 / no 13.52.1 Finishing with Epoxy paint (two or more coats) at all location manufacturer's specifications including appropriate priming coat, prepareted work Net Total Quantity Say 11.611 sqm @ Rs 223.32 / sqm 13.98.1 Wall painting with plastic emulsion paint of approved brand and manuor more coats on old work Net Total Quantity	ns prepare aration of s 11.611 s ufactureto	Rs 322.16 ed and applied as purface, etc. complete. qm Rs 2592.97 give an even shade:0 sqm Rs 197208.20
19	Say 2,000 no @ Rs 161.08 / no 13.52.1 Finishing with Epoxy paint (two or more coats) at all location manufacturer's specifications including appropriate priming coat, prepasteel work Net Total Quantity Say 11.611 sqm @ Rs 223.32 / sqm 13.98.1 Wall painting with plastic emulsion paint of approved brand and manuor more coats on old work Net Total Quantity Say 1978.810 sqm @ Rs 99.66 / sqm 13.99.1 Painting with synthetic enamel paint of approved brand and manufacturery	ns prepare aration of s 11.611 s ufactureto	Rs 322.16 ed and applied as purface, etc. complete. qm Rs 2592.97 give an even shade:Complete. sqm Rs 197208.20 quired colour to give

	Say 1.000 each @ Rs 4705.96 / each	Rs 4705.96
28	od144813/2024_2025 Providing steel floor trap	
	Net Total Quantity	4.000 each
	Say 4.000 each @ Rs 166.09 / each	Rs 664.36
29	14.6.1 Renewing glass panes, with wooden fillets wherever necessary:Float g	lass panes of thickness 4 mm
	Net Total Quantity	2.400 sqm
	Say 2.400 sqm @ Rs 1486.68 / sqm	Rs 3568.03
30	Providing & fixing White vitreous china water closet squatting pan (Including dismantling of old WC seat and "S" or "P"trap at site compleneessary materials, labourand disposal of dismantled material identification of Engineers in about 20 person of the page 10 person of 10 per	ete with all operations including a c malba, all complete as per th
	Providing & fixing White vitreous china water closet squatting pan (Including dismantling of old WC seat and "S" or "P"trap at site complete.	ete with all operations including c malba, all complete as per the
	Providing & fixing White vitreous china water closet squatting pan (Including dismantling of old WC seat and "S" or "P"trap at site compleneessary materials, labourand disposal of dismantled material iddirection of Engineer-in charge. Orissa pattern W.C Pan of size 58	ete with all operations including to malba, all complete as per the sox440 mm
	Providing & fixing White vitreous china water closet squatting pan (Indincluding dismantling of old WC seat and "S" or "P"trap at site compleneessary materials, labourand disposal of dismantled material iddirection of Engineer-in charge. Orissa pattern W.C Pan of size 58	ete with all operations including a c malba, all complete as per the ox440 mm 4.000 each
	Providing & fixing White vitreous china water closet squatting pan (Indincluding dismantling of old WC seat and "S" or "P"trap at site compleneessary materials, labourand disposal of dismantled material iddirection of Engineer-in charge. Orissa pattern W.C Pan of size 58 Net Total Quantity Say 4.000 each @ Rs 4164.31 / each	ete with all operations including a c malba, all complete as per the cox440 mm 4.000 each Rs 16657.24 18.0%
	Providing & fixing White vitreous china water closet squatting pan (Indincluding dismantling of old WC seat and "S" or "P"trap at site compleneessary materials, labourand disposal of dismantled material iddirection of Engineer-in charge. Orissa pattern W.C Pan of size 58 Net Total Quantity Say 4.000 each @ Rs 4164.31 / each Service Tax @ Service Tax Amount Total with Service Tax Amount	ete with all operations including a c malba, all complete as per the cox440 mm 4.000 each Rs 16657.24 18.0% 75895.38
	Providing & fixing White vitreous china water closet squatting pan (Indincluding dismantling of old WC seat and "S" or "P"trap at site compleneessary materials, labourand disposal of dismantled material i/directionof Engineer-in charge.Orissa pattern W.C Pan of size 58 Net Total Quantity Say 4.000 each @ Rs 4164.31 / each Service Tax @ Service Tax Amount	ete with all operations including a c malba, all complete as per the cox440 mm 4.000 each Rs 16657.24 18.0% 75895.38 497536.38
	Providing & fixing White vitreous china water closet squatting pan (Indincluding dismantling of old WC seat and "S" or "P"trap at site compleneessary materials, labourand disposal of dismantled material iddirection of Engineer-in charge. Orissa pattern W.C Pan of size 58 Net Total Quantity Say 4.000 each @ Rs 4164.31 / each Service Tax @ Service Tax Amount Total with Service Tax Amount	ete with all operations including a c malba, all complete as per the cox440 mm 4.000 each Rs 16657.24 18.0% 75895.38 497536.38
	Providing & fixing White vitreous china water closet squatting pan (Indincluding dismantling of old WC seat and "S" or "P"trap at site compleneessary materials, labourand disposal of dismantled material iddirection of Engineer-in charge. Orissa pattern W.C Pan of size 58 Net Total Quantity Say 4.000 each @ Rs 4164.31 / each Service Tax @ Service Tax Amount Total with Service Tax Amount	ete with all operations including a c malba, all complete as per the cox440 mm 4.000 each Rs 16657.24 18.0% 75895.38 497536.38

(Cost Index Applied for this estimate is 35.59%)